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Response to 1% Fiscal Shock

Etdxt = σ(it − πt)dt
Etdπt = (ρπt − κxt)dt
dvt = (rvt + it − πt − s̃t)dt

Shock to  with no change in interest rate .s̃t itModel:



Response to 1% Interest Rate Rise 

Etdxt = σ(it − πt)dt
Etdπt = (ρπt − κxt)dt
dvt = (rvt + it − πt − s̃t)dt + (dqt − Etdqt) Shock to  with no change in it s̃tModel:
Etdqt = [(r + ω)qt + it]dt



1% Fiscal Shock + Taylor Rule Fed Response 

it = θπt; θ = 1



Fed responds late to a fiscal shock
30% of GDP fiscal shock

Fed raises rates 4%



We need not have inflation forever

Well anticipated normalization



Worries

• Can the Fed (alone) raise rates, lower inflation?

1. The point is to cause a bit of recession.







Raise , lower , lower .

2. Recession politics?

3. All AD is not the same — interest-sensitive hit more.

4. Fiscal interactions: 


A. Higher interest costs. $25T x 1% = $250b

B. Fed balance sheet losses. $9T! 

C. Recession stimulus and bailout. Another 30% GDP?

D. Unreformed current and long-term deficits.


• The next shock?

xt = Etxt+1 − σ(it − Etπt+1)
πt = βEtπt+1 + κxt

i x π



All AD is not the same: shift away from interest-sensitive components 


